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w(x, t) = W(x)e™*

(5-8)
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W(x) = C, cosh7 + C, S|nh7 +C, cos— + C, sin— (5.9)
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2n 2w 2\ pA
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A 1m 2cm
S|
L =1m , A = 0.000314m*> , E = 70GPa = 70 x 10°
N/m? p=2.8x10°Kg/m® T = 0.785x 10°m"*
L = 1000mm , A = 314mm®> , E = 7200Kgf/ mm?
p = (0.28KgF/ mm*)(9800mm / sec?) = 2.8 x 10°KgF/ mm* sec?
I = 0.785 x 10°
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C.(cosh i + cosi)+ C,(sinh 1 +sini) =0
C.(sinh & - sini) + C,(cosh i + cosA) = 0
C, G,
coshhcosi +1 =0 (5-11)

Newton-Raphson

A =1.875 A, = 4.694 A, = 7.855
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(Newton-Raphson )

f(X)=0 f(X) y
fFix) = T = Tx)
X — X,
fF(x)=0
_ - XD
°F(x,)
X =X - (x,)
n+ n f'(Xn)
(5.11)

f(L) = coshicosA +1

A =15

f(1.5)=1.1664

1.6) - (1.4 .9247 — 1.
f(1-6) - F(1.4) _ 0.9247 - 1.3656 _ , ,,,

f' 1_5 =
-9 1.6 — 1.4 0.2
A, = 1.5+ 2005 029
2.2042
2.030) - 1(2.028 i} _ 7.
F(2.029) - TC2-080) - 7(2.028) _ 7.0627 — 7.1652
0.002 0.002
1.875
ka = 2.029 — :QLZEEEQ =1.890
5.1231
w=0 aVll =0 =0 ¢
o0X
¢, =¢C=C=0 ,Csink=0

5-5



M =m=3.141 A, = 21 = 6.283 ,A, = 3n = 9.424

3

W, = sin nrx
/
A, = 4.730 , %, = 7.853 , A, = 10.996
53
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D6W+2 ow +6W :—haw (5.13)
ox* 0°’xoy oy’ ot
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f = Az | D (5.14)
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a[m] h[m] D D = Eh*/12(1 - v?)
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A =m? + (%] n’ (5.15)
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+
2 aoxoe a*og 2 ax* ade Ba’ 2 ax
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v ou ov W d (1-v 0d'u o'u 3-v_, 0%V
—— +t— + — + -a - a
aox a'op a* Ba’ 2  adxoe’ ox’ 2 oxX o¢
64 64 4 2
+ a’ i 2 W aW+26W + X (5.17¢c)
ox* ox’og*  a’ox' a*oe* a’
t t h
(4.39)
u(z,0) = u,(z)cosno
v(z,8) = v, (z)sinne (5.18)
w(z,0) = w,(z) cos n®
n
T E (5-19)
27R* \ p(1 - v?)
n n>3
) 4 4 4
f = 12\/(n2+1<2) +%£ (5.20)
2nR n° + «° ph

40 =12(1-v*)(R/h)f x =mraR/L
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__( mnRz
w (z) = sm[ j (5.21)
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